
Classwork 3 -Trigonometry
7) (1-sinx) ·Casinx-13) = 0

1) sinx = -E
8) sin(x + =) = - 1

2) sin(2x +1) = E
9) 2 sinx + sinx-1 = 0

3) sinx = -1

4) sinx =
- E ↑

Sivix + 5. 1052X = 4

3) sinx = E

6) 2 sin(3x) = 53
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&sin(2x + 1) = = -sinNy : sin(2x+ ) = sint)

2x+ = &2
+

ke D x = [2k
+ + 3

2xπ + (-) 2k + + (π -3)

2x = She
keT

X =Sket
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1) sinx = - Tayadijka : sinx = o

An:= sin &on : 0 = Sinc

- E = -sir = sin)-)
Aga , sinx = o

E) sinx = Sino

Aga,sinx = -EEssinx = sin()
1Aya ,

y =)
24 + + 0 ,

keZ

2kπ + ( -5) ,
ke

X = &
2kπ + ( - ( -E)) ,

kEI 2kπ + (π - 0) ,
ke2

x = (2km
- E , keR X =STEP2

&
2k+ ,

kER
2kop =

X =Ko
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9) Isinx + sinx -1 = 0 'Aga
, y = 3

Are : Ozzw y = sinx

Apa , 2 sinx + sinx-1 = 0 Aga , sinx = de
E)2y + y = 1 = 0

D = 12 - 4 . 2 . ( - 1) = 9 sin)
=E x =

2π + 3 ,
kX

22== = -

2kT(π- E) ,
KER S

2kπ+(π3) ,k
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⑩ sinx + 5 : cos2x = 4

Not :

sin2x + 5 . 10s X = 4 ES
kinx) = E

sinix + 50)1 = sinix) =4 17
sinx = tes sinx = -1

sinx + 5-5sinx = 4 El

sinx = sin sinx = sin)-)
- 4 sinx = - 1E)

↓ ↓
sinix = E)

x=G2kπ
+

ES2kMix= E) 2k + S 2+ E
Isinx1 = E keTL

ke*
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(1-sinx)
- /asinx - (3) = 0

Non : (l-sinx) · Jesinx -(3) = 0

Essin(3x) = => 1-sinx = o in 2 sinx-Ey = o

() 1 = sinx i sinx=
=) sin(3x) = sin El sinx =sin in sinx = sin I

Aga ,
3x = [2k+ ke*

=)
x = (2kπ

+

Eyx =22k
+

2k + + (π -F)
2k+ + (π-) 2k + +( - F )

()
x =akTEix =32kπ

+ =

Aga x =G ktR

ke R

2kT1 + 2
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